

## County Distribution Detail Report through 03/04/2025

Α	ui	ro	ra
_	u	·	ıa

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	719	2,251	679	3,649	\$7,298.00	\$146.60	\$7,151.40	0.70	\$5,005.98
							Entity '	Total:	\$5,005.98
							Adjust	ment:	\$0.00
							Total A	Amount:	\$5,005.98
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	660	12,066	2,404	15,130	\$30,260.00	\$620.14	\$29,639.86	0.70	\$20,747.90
							Entity	Total:	\$20,747.90
							Adjust	ment:	\$0.00
							Total A	Amount:	\$20,747.90
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	772	1,328	3	2,103	\$4,206.00	\$92.74	\$4,113.26	0.70	\$2,879.28
							Entity 1	Total:	\$2,879.28
							Adjust	ment:	\$0.00
							Total A	Amount:	\$2,879.28
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,332	4,518	76	5,926	\$11,852.00	\$237.78	\$11,614.22	0.70	\$8,129.95
							Entity 1	Total:	\$8,129.95
							Adjust	ment:	\$0.00
							Total A	Amount:	\$8,129.95
Brookings									

## **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	8,894	25,041	387	34,322	\$68,644.00	\$1,441.39	\$67,202.61	0.70	\$47,041.83
6/2024	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
							Entity 1	Гotal:	\$47,041.84
							Adjusti	ment:	\$0.00
							Total A	mount:	\$47,041.84
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	3,797	30,258	3,582	37,637	\$75,274.00	\$1,565.68	\$73,708.32	0.70	\$51,595.82
							Entity 1	Γotal:	\$51,595.82
							Adjusti	ment:	\$0.00
							Total A	mount:	\$51,595.82
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,896	4,147	172	6,215	\$12,430.00	\$250.57	\$12,179.43	0.70	\$8,525.60
							Entity 1	Γotal:	\$8,525.60
							Adjusti	ment:	\$0.00
							Total A	mount:	\$8,525.60
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	518	514	2	1,034	\$2,068.00	\$41.50	\$2,026.50	0.70	\$1,418.55
							Entity 1	Γotal:	\$1,418.55
							Adjusti	ment:	\$0.00
							Total A	mount:	\$1,418.55
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,133	7,571	572	9,276	\$18,552.00	\$389.94	\$18,162.06	0.70	\$12,713.44
							Entity 1	Total:	\$12,713.44
							Adjusti	ment:	\$0.00

Campbell							Total F	anount.	φ12,7 13.4 <del>4</del>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	500	1,415	15	1,930	\$3,860.00	\$80.54	\$3,779.46	0.70	\$2,645.62
							Entity 1	Total:	\$2,645.62
							Adjust	ment:	\$0.00
							Total A	Amount:	\$2,645.62
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,985	6,127	20	8,132	\$16,264.00	\$328.45	\$15,935.55	0.70	\$11,154.89
							Entity 1	Total:	\$11,154.89
							Adjust	ment:	\$0.00
							Total A	Amount:	\$11,154.89
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1	3,068	407	3,476	\$6,952.00	\$143.11	\$6,808.89	0.70	\$4,766.22
							Entity	Total:	\$4,766.22
							Adjust	ment:	\$0.00
							Total A	Amount:	\$4,766.22
City of North Sioux (	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	437	3,617	138	4,192	\$8,384.00	\$185.90	\$8,198.10	0.70	\$5,738.67
							Entity	Total:	\$5,738.67
							Adjust	ment:	\$0.00
							Total A	Amount:	\$5,738.67
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	109	12,210	3,552	15,871	\$31,742.00	\$639.27	\$31,102.73	0.70	\$21,771.91
							Entity 1	Total:	\$21,771.91

**Total Amount:** 

\$12,713.44

							Adjustment:		\$0.00
							Total A	mount:	\$21,771.91
City of Sioux Falls, L	-incoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	<b>Entity Percent</b>	Entity Amount
1/2025	601	36,136	5,978	42,715	\$85,430.00	\$1,754.03	\$83,675.97	0.70	\$58,573.18
							Entity 7	Total:	\$58,573.18
							Adjusti	ment:	\$0.00
							Total A	mount:	\$58,573.18
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	875	2,697	144	3,716	\$7,432.00	\$156.53	\$7,275.47	0.70	\$5,092.83
							Entity 1	Total:	\$5,092.83
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,092.83
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	301	8,361	1,363	10,025	\$20,050.00	\$425.03	\$19,624.97	0.70	\$13,737.48
							Entity 7	Total:	\$13,737.48
							Adjusti	ment:	\$0.00
							Total A	mount:	\$13,737.48
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	<b>Entity Percent</b>	Entity Amount
1/2025	2,096	21,893	3,432	27,421	\$54,842.00	\$1,176.38	\$53,665.62	0.70	\$37,565.93
							Entity 7	Total:	\$37,565.93
							Adjusti	ment:	\$0.00
							Total A	mount:	\$37,565.93
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	410	1,159	710	2,279	\$4,558.00	\$92.15	\$4,465.85	0.70	\$3,126.10

							Littly	i otai.	ψ3,120.10
							Adjust	ment:	\$0.00
							Total A	Amount:	\$3,126.10
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
Reporting Feriou	relecom Lines	Wireless Lilles	VOII LINES	Total Lilles	Suicharge	Adminitee	Net Sulcharge	Littly I ercent	Entity Amount
1/2025	2,557	7,214	69	9,840	\$19,680.00	\$430.35	\$19,249.65	0.70	\$13,474.76
							Entity <sup>-</sup>	Total:	\$13,474.76
							Adjust	ment:	\$0.00
							Total A	Amount:	\$13,474.76
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
					_		_	-	-
1/2025	2,209	16,194	1,803	20,206	\$40,412.00	\$837.33	\$39,574.67	0.70	\$27,702.27
							Entity <sup>-</sup>	Total:	\$27,702.27
							Adjust	ment:	\$0.00
							Total A	Amount:	\$27,702.27
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
						<b>*</b>	<b>*</b> * * * * * * * * * * * * * * * * * *		
1/2025	1,279	4,006	223	5,508	\$11,016.00	\$222.47	\$10,793.53	0.70	\$7,555.47
							Entity <sup>-</sup>	Total:	\$7,555.47
							Adjust	ment:	\$0.00
							Total A	Amount:	\$7,555.47
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,128	3,360	131	4,619	\$9,238.00	\$190.31	\$9,047.69	0.70	\$6,333.38
1/2025	1,120	3,300	131	4,019	ψ <del>3</del> ,230.00	ψ190.51	ψ3,047.03	0.70	ψ0,333.30
							Entity <sup>-</sup>	Total:	\$6,333.38
							Adjust	ment:	\$0.00
							Total A	Amount:	\$6,333.38
Douglas									

**Reporting Period** 

**Telecom Lines** 

Wireless Lines

**VOIP Lines** 

**Total Lines** 

Surcharge

**Admin Fee** 

Net Surcharge

**Entity Percent** 

**Entity Amount** 

**Entity Total:** 

\$3,126.10

1/2025	889	2,327	8	3,224	\$6,448.00	\$133.44	\$6,314.56	0.70	\$4,420.19
							Entity 1	Γotal:	\$4,420.19
							Adjusti	ment:	\$0.00
							Total A	mount:	\$4,420.19
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	766	3,234	155	4,155	\$8,310.00	\$167.81	\$8,142.19	0.70	\$5,699.53
							Entity 1	Γotal:	\$5,699.53
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,699.53
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	2,348	5,505	20	7,873	\$15,746.00	\$324.40	\$15,421.60	0.70	\$10,795.12
							Entity 7	Γotal:	\$10,795.12
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,795.12
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	553	1,762	48	2,363	\$4,726.00	\$95.08	\$4,630.92	0.70	\$3,241.64
							Entity 1	Γotal:	\$3,241.64
							Adjusti	ment:	\$0.00
							Total A	mount:	\$3,241.64
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	912	5,945	679	7,536	\$15,072.00	\$334.20	\$14,737.80	0.70	\$10,316.46
							Entity 7	Γotal:	\$10,316.46
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,316.46
Gregory									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,385	3,713	7	5,105	\$10,210.00	\$233.21	\$9,976.79	0.70	\$6,983.75
							Entity <sup>-</sup>	Total:	\$6,983.75
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,983.75
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	815	1,416	3	2,234	\$4,468.00	\$89.40	\$4,378.60	0.70	\$3,065.02
							Entity <sup>-</sup>	Total:	\$3,065.02
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,065.02
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,100	4,570	109	5,779	\$11,558.00	\$234.45	\$11,323.55	0.70	\$7,926.49
							Entity <sup>-</sup>	Total:	\$7,926.49
							Adjusti	ment:	\$0.00
							Total A	mount:	\$7,926.49
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	457	2,812	449	3,718	\$7,436.00	\$153.48	\$7,282.52	0.70	\$5,097.76
							Entity <sup>-</sup>	Total:	\$5,097.76
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,097.76
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	578	3,346	105	4,029	\$8,058.00	\$172.68	\$7,885.32	0.70	\$5,519.72
							Entity <sup>-</sup>	Total:	\$5,519.72
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,519.72
Harding									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	552	908	1	1,461	\$2,922.00	\$66.95	\$2,855.05	0.70	\$1,998.54
							Entity <sup>1</sup>	Total:	\$1,998.54
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,998.54
ughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	367	3,422	227	4,016	\$8,032.00	\$190.31	\$7,841.69	0.70	\$5,489.18
							Entity <sup>-</sup>	Total:	\$5,489.18
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,489.18
lutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	2,067	5,693	37	7,797	\$15,594.00	\$314.64	\$15,279.36	0.70	\$10,695.55
							Entity <sup>-</sup>	Total:	\$10,695.55
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,695.55
lyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	517	1,036	11	1,564	\$3,128.00	\$62.95	\$3,065.05	0.70	\$2,145.54
							Entity <sup>-</sup>	Total:	\$2,145.54
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,145.54
ackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	501	988	8	1,497	\$2,994.00	\$60.09	\$2,933.91	0.70	\$2,053.74
							Entity <sup>-</sup>	Total:	\$2,053.74
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,053.74

Cordara									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	611	1,468	17	2,096	\$4,192.00	\$83.98	\$4,108.02	0.70	\$2,875.61
							Entity <sup>-</sup>	Total:	\$2,875.61
							Adjust	ment:	\$0.00
							_	amount:	\$2,875.61
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	399	739	4	1,142	\$2,284.00	\$45.68	\$2,238.32	0.70	\$1,566.82
							Entity <sup>-</sup>	Total:	\$1,566.82
							Adjust	ment:	\$0.00
							Total A	amount:	\$1,566.82
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	647	4,080	418	5,145	\$10,290.00	\$231.70	\$10,058.30	0.70	\$7,040.81
6/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
12/2024	0	0	0	0	\$0.00	\$-0.03	\$0.03	0.70	\$0.02
							Entity <sup>-</sup>	Total:	\$7,040.90
							Adjust	ment:	\$0.00
							Total A	amount:	\$7,040.90
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,149	9,883	996	12,028	\$24,056.00	\$508.79	\$23,547.21	0.70	\$16,483.05
6/2024	0	0	0	0	\$0.00	\$-0.15	\$0.15	0.70	\$0.11
12/2024	0	0	0	0	\$0.00	\$-0.05	\$0.05	0.70	\$0.04
							Entity <sup>-</sup>	Total:	\$16,483.20
							Adjust	ment:	\$0.00
							Total A	amount:	\$16,483.20
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2025	2,979	20,667	2,802	26,448	\$52,896.00	\$1,117.91	\$51,778.09	0.70	\$36,244.66
							Entity 1	Γotal:	\$36,244.66
							Adjusti		\$0.00
							_	mount:	\$36,244.66
Lincoln									<b>****</b> ,= :•
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,393	29,317	6,001	36,711	\$73,422.00	\$1,589.33	\$71,832.67	0.70	\$50,282.87
6/2024	0	0	0	0	\$0.00	\$-0.25	\$0.25	0.70	\$0.18
12/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
							Entity 1	Γotal:	\$50,283.12
							Adjusti	ment:	\$0.00
							Total A	mount:	\$50,283.12
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	961	1,970	356	3,287	\$6,574.00	\$132.00	\$6,442.00	0.70	\$4,509.40
							Entity 7	Γotal:	\$4,509.40
							Adjusti	ment:	\$0.00
							Total A	mount:	\$4,509.40
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,117	3,386	177	4,680	\$9,360.00	\$201.46	\$9,158.54	0.70	\$6,410.98
							Entity 7	Γotal:	\$6,410.98
							Adjusti	ment:	\$0.00
							Total A	mount:	\$6,410.98
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,345	4,865	9	6,219	\$12,438.00	\$253.19	\$12,184.81	0.70	\$8,529.37
							Entity 1	Γotal:	\$8,529.37
							Adjusti	ment:	\$0.00
							Total A	mount:	\$8,529.37

## McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	712	1,673	5	2,390	\$4,780.00	\$109.28	\$4,670.72	0.70	\$3,269.50
							Entity <sup>-</sup>	Total:	\$3,269.50
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,269.50
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,186	21,590	1,066	23,842	\$47,684.00	\$1,004.33	\$46,679.67	0.70	\$32,675.77
							Entity <sup>-</sup>	Γotal:	\$32,675.77
							Adjust	ment:	\$0.00
							Total A	mount:	\$32,675.77
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	476	745	28	1,249	\$2,498.00	\$50.33	\$2,447.67	0.70	\$1,713.37
							Entity <sup>-</sup>	Total:	\$1,713.37
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,713.37
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	747	1,791	21	2,559	\$5,118.00	\$78.95	\$5,039.05	0.70	\$3,527.34
6/2024	0	0	0	0	\$0.00	\$-0.67	\$0.67	0.70	\$0.47
12/2024	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
							Entity <sup>-</sup>	Γotal:	\$3,527.97
							Adjusti	ment:	\$0.00
							Total A	mount:	\$3,527.97
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	10,525	169,479	25,445	205,449	\$410,898.00	\$8,526.73	\$402,371.27	0.70	\$281,659.89
6/2024	0	0	0	0	\$0.00	\$-4.87	\$4.87	0.70	\$3.41

12/2024	0	0	0	0	\$0.00	\$-1.58	\$1.58	0.70	\$1.11
							Entity <sup>-</sup>	Total:	\$281,664.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$281,664.41
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	768	5,328	150	6,246	\$12,492.00	\$268.60	\$12,223.40	0.70	\$8,556.38
6/2024	271	0	0	271	\$338.75	\$6.49	\$332.26	0.70	\$232.58
12/2024	54	0	0	54	\$108.00	\$2.14	\$105.86	0.70	\$74.10
							Entity <sup>-</sup>	Γotal:	\$8,863.06
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,863.06
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	8,364	94,690	12,491	115,545	\$231,090.00	\$4,817.10	\$226,272.90	0.70	\$158,391.03
							Entity <sup>-</sup>	Γotal:	\$158,391.03
							Adjust	ment:	\$0.00
							Total A	mount:	\$158,391.03
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,410	2,441	5	3,856	\$7,712.00	\$164.12	\$7,547.88	0.70	\$5,283.52
							Entity <sup>-</sup>	Γotal:	\$5,283.52
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,283.52
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	795	1,984	7	2,786	\$5,572.00	\$111.99	\$5,460.01	0.70	\$3,822.01
							Entity <sup>-</sup>	Γotal:	\$3,822.01
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,822.01

Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	2,488	5,893	70	8,451	\$16,902.00	\$362.83	\$16,539.17	0.70	\$11,577.42
							Entity <sup>-</sup>	Γotal:	\$11,577.42
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,577.42
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	587	1,929	13	2,529	\$5,058.00	\$102.98	\$4,955.02	0.70	\$3,468.51
6/2024	0	0	0	0	\$0.00	\$-0.02	\$0.02	0.70	\$0.01
							Entity <sup>-</sup>	Γotal:	\$3,468.52
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,468.52
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	915	4,985	490	6,390	\$12,780.00	\$260.47	\$12,519.53	0.70	\$8,763.67
							Entity <sup>-</sup>	Γotal:	\$8,763.67
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,763.67
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	140	2,541	467	3,148	\$6,296.00	\$129.96	\$6,166.04	0.70	\$4,316.23
							Entity <sup>-</sup>	Γotal:	\$4,316.23
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,316.23
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	498	1,348	5	1,851	\$3,702.00	\$76.21	\$3,625.79	0.70	\$2,538.05

\$2,538.05

**Entity Total:** 

							Adjustment:		\$0.00
							Total A	Total Amount:	
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	0	58	5	63	\$126.00	\$15.09	\$110.91	0.70	\$77.64
							Entity 1	Γotal:	\$77.64
							Adjusti	ment:	\$0.00
							Total A	mount:	\$77.64
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,817	4,188	10	6,015	\$12,030.00	\$243.44	\$11,786.56	0.70	\$8,250.59
							Entity 1	Γotal:	\$8,250.59
							Adjusti	ment:	\$0.00
							Total A	Total Amount:	
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,288	7,182	94	8,564	\$17,128.00	\$347.71	\$16,780.29	0.70	\$11,746.20
							Entity 1	Γotal:	\$11,746.20
							Adjusti	ment:	\$0.00
							Total A	mount:	\$11,746.20
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,542	12,316	830	14,688	\$29,376.00	\$699.64	\$28,676.36	0.70	\$20,073.45
6/2024	0	0	0	0	\$0.00	\$-0.42	\$0.42	0.70	\$0.29
12/2024	0	0	0	0	\$0.00	\$-0.15	\$0.15	0.70	\$0.11
							Entity 1	Γotal:	\$20,073.85
							Adjusti	ment:	\$0.00
							Total A	mount:	\$20,073.85
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2025	1,111	4,019	531	5,661	\$11,322.00	\$229.96	\$11,092.04	0.70	\$7,764.43
							Entity Total:		\$7,764.43
							Adjustment:		\$0.00
							Total A	mount:	\$7,764.43
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2025	1,511	19,580	2,278	23,369	\$46,738.00	\$981.75	\$45,756.25	0.70	\$32,029.38
							Entity <sup>-</sup>	Γotal:	\$32,029.38
							Adjust	ment:	\$0.00
							Total A	mount:	\$32,029.38
TOTALS	95,822	701,963	82,520	880,305	\$1,760,406.75	\$36,826.79	\$1,723,579.96		